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QUESTION 1

You have a FAS9000 with 10 TB NL-SAS drives that is replicating to a FAS8200 with 4 TB NL-SAS drives. An 80 TB
source volume on the FAS9000 is showing 50% storage efficiency. After that volume mirror is initialized, the FAS8200
destination volume is showing only 10% storage efficiency.

In this scenario, why is storage efficiency reduced after replication?

A. The different controller models require logical replication.

B. The different sized drives use different efficiency methods.

C. The source volume has inline deduplication enabled.

D. The destination volume has post process compression enabled.

Correct Answer: B

QUESTION 2

You are using OnCommand Unified Manager to monitor the health and availability of your data protection relationships.
In this situation, what must be added to enable you to create, break, and resynchronize relationships?

A. SnapCenter

B. OnCommand System Manager

C. OnCommand Insight

D. OnCommand Workflow Automation

Correct Answer: D

QUESTION 3

Click the Exhibit button.
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Edit Snapshot Policy X
Name
Schedules
Schedule Name  Maximum Snapshot Copies to be Relained SnapMirror Label Add
hourly ] -
e Edit
daily 2 daily
Delete
weekly 2 weekly
Tell me more about Snapshot policies
Cancel

You have a volume that was configured a year ago using the default Snapshot policy that is shown in the exhibit. You
need to increase the number of weekly maximum Snapshot copies to retain eight copies.

Which additional action is needed to have eight weekly Snapshot copies in this volume after modifying the schedule?
A. Delete six weekly Snapshot copies

B. Reapply the default policy to the volume

C. Wait six weeks for Snapshot retention.

D. Modify the Snapshot reserve.

Correct Answer: B

QUESTION 4

Click the Exhibit button.
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Vserver Name: svm_sanluns(01
Volume Name: vol sanlunsOldev 01
Aggregate Name: aff 01 aggril
Volume Size: 100Gb
Volume State: online
Volume Style: flex
Available Size: 1000.0GB
Total User—Visible Size: 1000GB
Used Size: 2.00MB
Used Percentage: 0%
Volume Nearly Full Threshold Percent: 95%
Volume Full Threshold Percent: 98%
Maximum Autosize: 1.17TB
Minimum Autosize: 1000GB
Autosize Grow Threshold Percentage: 95%
AZutosize Shrink Threshols Percentage: 50%
Autosize Mode: true
Space Gudardnles in Effecl: trus
Space SLO in Effect: true
Space S5LO: none
Space Guarantee Style: none
Fractional Reserve: 100%
Snapshot Resserve Used: 0%
Snapshct Policy: none
Node name: aff-01

Referring to the exhibit, which setting specifies the point that the vol_sanluns0ldev_01 volume will increase in size?
A. Volume Nearly Full Threshold Percent

B. Space Guarantee in Effect

C. Autosize Grow Threshold Percentage

D. Fractional Reserve

Correct Answer: C

QUESTION 5

A company has implemented a MetroCluster cluster. The company wants to use MetroCluster TieBreaker to monitor
and detect failures of the cluster.

In this situation, which three components are monitored? (Choose three.)

A. nodes through local node interfaces
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B. FC connectivity of the ATTO bridges

C. FC connectivity of the fabric switches

D. the cluster, through cluster designated interfaces
E. the surviving cluster

Correct Answer: ADE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.hw-
metroclustertiebreaker%2FGUID-79A81337-B147-4497-A1D4-D7802FC23D76.html
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